20224 6 & AEA0olE

A =€ 268,820,546 99.9%
oxg7|1 25 =2 107,040,206 40%
71718 2|CMS 2lH|, A&7t 3[H|, X|2 $|H| 96,715,507 90%

HIE?|17|12 5 (LA 2/ 10,324,699 10%
X872 = 153,675,040 57%
MEfEX 2 S| MFHLAIY_2MAS5 X AT 133,345,040 86.77%
OFds=ERSRES(MEETE 2 7IF= 310,000 0.20%
MEfj=et2s|Ates 7|83 20,000 0.01%

OUX|7| 2o S 25| ML HEH ot A X|F 20,000,000 13.01%
UHtALY = 8,105,300 3%
HUEXIZ7| 2 SRS |7|227|H S S CITiCHY 223, S TIHTUE E7H| 8,105,300 100%
A o +=¢ 142,371 0.1%
£olY & O|Xt+- (18 EH Q| Xt=0|A| &ol, o| Xt 142,371 100%

At HIE 126,187,782 100%
At H|& 104,313,491 83%
SMALR| 25 |2 A4S, 224 2, AREoEE S 13,111,878 13%
MEfH N 25 |SHLMEN A EH, HFHAYEAL DMZEH & 23,019,135 22%
OSSR RES(MSTEM IS, OFYSEMAMR EZ & 14,028,652 13%
MEjz=2t2 S| EetAE e U fSAHQ, Cie|82aM3t, AHg+=g 2L HY 12,728,324 12%
SHAQHH 5| 8Autail g, SE oIS 7,778,691 8%
oux|I7| 2 S| Mg U8, 727|108, MY XIS, &3 & 33,646,811 32%
2a HE 15,517,653 12%
Lukaz| Hg 6,356,638 5%
At o H|-& 0 0%
=E+0[ 2022'3 63 =21} X|=2| XA 142,775,135
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